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Q 40. From the following Details supplied by Heaven club, you are required to find out
expenses to be debited to I/E ac for the year ended 31th March, 2015.

Acmount paid for salaries during theyear - 72000

Salaries Outstanding 31-03-2015 - 12000

Salariesout Standing 31-03-2014 - 7200

Salaries Prepaid 31-03-2014 - 9600

Q41. Calculate the amount of Subscription to be credited to I/E alc for the year ended on 31h

March, 2013 :-

Subscription received during the year 2012-13 - 45200

Subscription Outstanding on 31 March, 2012 - 3500

Subscription received In Advance on 31 March, 2012 - 4200

Subscription Outstanding on 31 March, 2013 - 3300

Subscription received In Advance on 31 March, 2013 - 2800

Q42. Thefollowing is the receipts and payment a&/c of you-Bee factory club for the year
ended 31st december, 2018 :-

Receipts Amount Payments Amount

To Balance b/d 15000 By salaries and wages 16000
By office Expenses 3500

To Subscriptions | 35000 By Sports equipments 28000
To Donation 5000 By Telephone Charges 2400
To Entrance Fee 8000 By Electric Charges 3200
By Travelling expenses 6500

By Balance c/d 3400

63000 63000

The following adjustments are required --
(@) Outstanding Subscription for 2003 B. 5500
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(b) Entrance for to be capitalized and Donation Not foe speafic purpose.
(c) Outstanding salaries and Wages B. 4000
Prepare in and Expeland true account of the club.

Q 43. Following isthe receipt and payment a/c of aclub for the first year ended 31 March,

2015 :-
Receipts Amount Payments Amount
TO Subscription 33000 By Salary 6600
To Interest on 300 By Rent 33,300
Investment
By Postage 300
By Telephone charges 600
By Printing and Stationery 900
By Furniture 600
By Investment 12000
By cash in hand 300
By cash in bank 3300
33000 33300

The Following adjustment arerequired :-
(i) Outstanding salary Rs 600
(i) Subscription to be received Rs. 1200
(iii) Rate on Depreciation on furniture @ 10%
(iv) Outstanding Rent Rs 300
Prepare income and Expenditure account.
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9. A Withdraws 2400 Per month on first days of every month during 2014. Interest on
drawings is charged at 8% per annul. Find out interest on drawings.

10. B Withdraws 3500 per month on last days of every month for year ended 31st Dec, 2014.
Interest on drawings is charged at 10% per annul. Find out interest.
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20. From the following data calculate goodwill on the basis of two year purchase of the last
three years average Profit. The profits for the three year are :- 2008,-40000, 2009-35000,
2010- 30000.

21. AB associates earned the following profit during the last four year :-
2012 - 15000 2013 - 22000
2014 - 14000 2015 - 19000

you are required to calculate the value of goodwill bared on the three year Purchase of the
average of last four years.

22. From the following information, compute the value of goodwill at two years purchase of
the super Profit :-

Average profit - 21500, Capital employed - 200000
Normal rate of return - 10%
23. The profit of A, B and C for the last four year were as under : -
2012 - 20,000, 2013 - 30,000, 2014 - 40,000, 2015 - 45000
Calculate the value of goodwill for the 3 year purchase of average
Weighted profit the weights are 1,2,3 and 4 in the year of 2012, 2013, 2014 and 2015.

24. The Assets of afilm are 600000 and the liabilities of a other than capital are 200000. The
Normal late of profit this type of Business is 15% where as the film earns a profit of Rs.
150000. fund the value of Goodwill according to capitalization Me trod.

25. Average not profit expected in future by afirm B. 480000 per year.

Normal profit is B . 30000 and normal rate of return on capital employed in asimilar
businessis 10%. Calculated. Goodwill of the film by capitalisation of super profit method.
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€) A and B are partners sharing profit and Losses in equals Ratio, They decide to share
future profit in Ratio 2:3. Y ou are required to determine Sacrifices or gains ratio of
partners.

(M)  AEETH €OH € USd J15a HETEE AN Unt § fae mimads a3 Aer 97

(¥) FA¥Ed @4 € Usd-f&anE 3 ot g7= J?

() =930 AigEd i[9 59 &3 migu3 fT9 3aeist A fags-fags mirdnsT &t
BFJ7

@ FIITIF U3 feu IuEtst I FEI?

(&)  Gold, Silver and copper are Partners in a firm sharing profit equally. They have
decided to share profit in the ratio of 2:3:5. For this purpose the goodwill of the firm
is valued at Rs 150000. Record the necessary journal entry to give effect to the new
arrangement.

(H) SIS AT U &9 €3 MguTa & 3BT A AUSHT W3 ecaTdit e
ysg Hetae fag wgdt 97

@)  fammar mauTas (Sacrificing ratio) M3 0T MEUTS (gainning ratio) fe9 W39 AUEeE
a9l

(w)  X,Y and Z are three Partners sharing profit and Losses in 5 :3 :2. They agree to share
future profit and losses equally. On the same date theirs Balance sheet showed a genrearl
resereve of 54000. Pass the nursery journal entries.

(8)  A,BandC arethree partners sharing P/L 3: 2: 1. They agree to share future P/L 4 :3:2.
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&< HISETd @ €Y AN AU W3 ecaTdT €7 USd HBTdS o9& ©f 83 fa J<t
J?

f3mmar migur3 &t gresT € gronET &t 97

nifAdtt € %31 TR A fammar migu™3 & &g 13T AT AgeT 97
Meurg fog Sfemr Arer g7
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10.

11.
12.
13.

14.
15.

16.

17.
18.
19.
20.

JUI 7Y SF gt I?
ATSETdt Mfafse © M39913, 3= ATSTT © TYd HYUT Ha3T faashdt a&7?
AUt M3 Ecerdht € Uad HBide 3 1 &9 7 I g I BH § YT AisEd

fom misurg feg Sz=a1?

A &< ATSEd €48 € AN A™Y &de & o mMeer I 37 €1 fa= egntfeomT arar J1
&< ATSEd § <o fe9 eud AN YUz de =78 nifugs € &1 fad|

Had Usd H&ae Y37 famrg atgr A<, 3t Uasd AEUI Jet fea o mrushat
TIT feg AUShdT w3 Ecerdtidt & faa=s s Sanedit?

USJd HBTIE YT3T ot Jar J7?

faargs & STt IrEPHT ST USI-HBTaS yg @ fan vy feg sanmehqt
"I 9&57°

fagmas &7 It It AUSHT Usd-HBTaS ¥ g © fan Uy feg gt
" 957

fammar migura ot I?

USI-HB o yr3T faumar g9 = §em ot gar J7?
AUt St a3t feg it & Usa-Haae u3 feg faus uR gantfen Afer 97
Teudmt fe g I 8 =0 § Usd-H&iae u3 fee faux uw ganrfen ater 97

3 WAt TH YAS :

1.

2
3.
4
5

10.

11.

USI-HBTaE 4T3T ot J°?
f3mmar migur3 it 37 f3nmar migur3 €t aresT v gonET 34|

SN A-o

UEI-HBTISE UT3T M HHISH USI-HBTa< 4'g fegdard w3d €r?

HHISH UST-HB IS UT3T ot J7?

&< FIieTd © TUS AN IAT AfY3 &9, TaiT w3 faradet @ syige fesga fa=s
Faar?

ferfiprr a9 fa AT Ay =7 Bytae feegd fa=e F9dr Ae fa s< graited Ay er
iyt foar saet © gy e fenfenr 3=

A € ¥Y8 83 yare Aigeat & UHt € mads fa= s Ater 97

gUt 3¢t ATy 3 IIT3T ot J7?

L and M are partner sharing profit and losesin 3:2, A New Partner N is admited for 1/5
share which he gets 3/20 share from L and 1/20 share from M. Calculate new profit
sharing ratio of partners.

A and B are partners sharing profit in the ratio of 3 :2. C is admited as a partner. The
new profit sharing ratio among A, B and C is 5:3:2. Find out sarificing ratio.

&< ATSEd TS € AN AY € »ue R & st @ &4t femm@er 3, 67 v ai3r
e =T fagrggr ffaga ar |

19



12.

13.

14.

AT &< AT3E9 Ay § &9¢! € gV fe9 & g me fagraw fev fausT feegw g<am?
yae Aiged fen § fan nigus fee <3<

7T 3= AT¥Td € €S AN AY € feeg9 fae qafarm? & Ay ufost ot sotnt feg
Hge 39|

Pass journal entries

a) Stock Rs 12,000 was increased to Rs. 15,000.
b) Furniture Rs 12,000 was decreased by Rs. 10,000.

4 MarksQuestions::

1.

2
3.
4
5

&< AZEd @ ey® A fao3-faos midas & &3 J<t 37

fmar miguTa &t I? f3Tar WigUTs &t IIeaT 99G & e fBE?

YST-HBES UT3T df I7 YSI-HBAS U3 € Y gy R |

< AISETd T MTUST AT T fo AT sae &< 3 gAt fan 3gt feearg aqqr?

gt 3¢ Ay 3 IarsT ot = I? fendt diesT fae J13t At I ffa Suwgas
Gergds € vee &% femmfemT g9

&< AT gdT et ATe T8t wigus Ut & fami3 998 € Y- Y JeH EX |
G M3 H MR 2 :1 %aU™3 &% ASTd I5| 8uaT & #wifay fg& fe9 Ay 18,000
JUE J1 K § 1/6 fom Bt rive 3T fapumi €7 & a0 & 50,000 guE fe3, fam
fe'g 15,000 JUT T ATY St AU J| SIPT e feeaa UH 991

TH M3 AH BT I § 2 11 € MaU'3 578 =3¢ J¢ e d goH &9 ATSET I&6 | Hag
31,2015 & §uat v wifan fo'sT Io fod MgAa 9 -

Liabilites Rs Assets Rs
Sunday 18,000 Cash 8,000
Bill Payable 7,000 Stock 11,000
Capital Debtors 15,000
Ram 30,000 Furniture 20,000
Sham 21,000 51,000 Machinery 22,000
76,000 76,000

wfsn fos =8t st & Hos & <o feT 1/3 fo i o7& aHs J13T famim | feg ersT

Jfenr fa

1. HUa Ut € 39 3 12,000 gUT fen=ar|

2. AT E©HE fET 2,000 JuT T ol 13T IEt M3 SI5199 €7 HS 23,000 JUT
I

3. WHtad §ug fumTet 5% J1
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4. fHHa3 =TT S 550 JUT T MUST IBH 88 fe 37| IAa™Y € wgdl ffeaH
U™H Jd|

9. AMIBBF TGS 4:38MaU3 &H <3¢ J¢ fe o gogH [T ATST0 U5 | enEa
31,2015 & §ust v wifa fo'sT Jat fau migAa J -
Balance Sheet as on 31st Dec, 2015

Liabilites Rs Assets Rs
Capital A/C Sunday Assets 73,500
A 40,000 Profit and loss A/c 7,000
B 30,000 70,000 Classin Business
Genral Reserve 10,500

80,500 80,500

C & eaH ST 1t A=, 2016 AHS A3 faruT| Pass necessary joutmal entries
regarding accumulated profit and | osses.

Answer Key
(ch,. Admission of new Partner)
yat gret @ €939 ¢
1) fowmar 2) yIe 3)yTE 4)yfimH 5) yaret wiguts
6) dfse 7) 3fae 8) 3fae 9)3fse 10) qfse
11) 3fge 12)3fse 13)ugst  14)3fge 15) fommarwisuts

-

16) 3T ABETETZUI

sta At BT @ €39
1. JB3 2)3F 3) 3l 4) ST 5) B3
6) I\I 7)1 8) aid 9) 3 10) IBI

11) atgd  12)3td 13) IB3 14) 3t
gy-feasyt st yms € €39

1) = 2) €. 3) . 4HA. 58 68 7H)A. 8 €. 9
10) €. 11)7.12)€.13) €. 14) %M. 15) 7. 16)M.17)€.18) €.

2 Marks Questions& €39 : -
1. &< ASYT Y Iys 3 gode 80 ANI A9 It ATSeTdT feu B9 @3 MUt |
2. (1) I7399 € YHU dI&T|
(2) B9 AT gT&t fEF mrueT fomr YUz Jaa7|
3. fen 3 o= fan &< AigET § ufost 3 Hge Sor fe9 Frfvs d9s 3 J1
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10.
11.
12.

13.
14.

15.

16.

17.

18.

19.
20.

I AUt 3 et €1 IISET I96 3 H B9 AT 76t d< OF fe9 52 Aiseg &
foreTdt 57 3=

fTar MaU™a YareT = WEUTS - ST MIUTS |

(1) &9 <3 migu3 e 9 ufaeass

(2) &< AI¥TTT 7 THST|

fammar migurg

ATd It ATgEgt & emsfed Agas it © Haes fega & Udt & nifugsT aus
Ay J<t I

&<t Aig¥Tg A9 1 ydre Aigergt € Afonat &% 4t Aigerdt fe9 I Aaer J1

Yd'et 19 @3 mMaug fe gl

AY § Yyd'e Aged fe9 fanmar migurs feg &3 fegr e J1

SoH it AU St feg fomr, eon @ sfey fee Je @ w9 fee forr yuz aas &t
wigarg|

< ufg=afazs T8 vol

8T 3T 7 HgeT AisETat & T 3 §oE AU ST w3 EeedHT € S9SHS
9779 H'& fadurfa3 a9s &t fawmg aiagr Arer J1

Sfae Uy 31

qfge vy 3|

8T »isu3 fAR 3 Hge™ AT¥T9 &< ATSEd & €4S Jda BT MU #at = fam e
fanmar aae I

HUIMHT M3 SSTIT € USI-HBae 8 Yg'e 7o B8 M3 Guaf e sat e fev
ufgedas a9 BT

3fae Uy o9l

3fae Uy fe91

AgaTg o faefeane M3 HI

2 Wt TE YHS

1.

2
3.
4

T MSUTI &t JeT J7

B9 YU3 J9& T8 A¥ET faust & fagr Aer 97

ASETg €t faefeane 3 gt &t mise 97

far AigeTa &t faefegne/H3 I 3, Me=s Bg/TaMT w3 AfesT § Afve feg
faoa nigurs feg 2fewm Aler 37

faaatt Afastit fe'T AigTd gon 3 foerfeaie & Aaer 37
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10.
11.

12.

13.

14.

15.

16.

17.

18.
19.

20.
21.

ATgeTdT wfafsed, 1932 €1 UraT 37 WEHTT : AI¥Ed @ faefed Ja AT G S i3 F
gE @9H &% gdt It BF €t AUt €3 feuH fast w9 7% fegr 7ier 37
Ageg € faefeane 7F H3 3 Ay & fa< fagras A 9w a3 Arer 37

ATSETdl @9H € UaJ J16& 3 of I7< J7?

foerfeare & mi, 3t Ay &7 fan 3¢t feeorg addr, A< Sgtvt fe'g e <t §fes
A3 T 9=7

AgeTg € faefeane 3 Ay § faw 39 faaras 3™ Ar=ar?

foam AigeTg & faefeane mn, Afes &9 3 Tat &% fam 3g+ © fesag aisT
AT 37

fH=a AfgETg Bt Mydt fo's &t 3ty 3 6F & H3 & 39ty I gsee &g < fon
&t gresT @ wruTg &t J7

AgeTg € faerfegie 7F H3 € AN Ysg-Heae 3 feg s o8 a9 A gat &
AgeTat &9 fan Wigu™s WgnTg SfswT Arer 37

aa3 dies g urfewt &t gt 97

it ot der 37

g9 A'E T8 AT¥E § fe 3t Are =78t 3aH 57% T &t fe=ure Jdar, 7 €9 O
i €7 & feg gan &7 fe 3t aret 9=7

Hod AgeTg dt fgerfeane A 13 wifaw yraT f3wmg a9 3 goe et 9<, 3T A
TH AT¥TT € B9 € W €t diesT <t feut fagst 37

993 Ales 5T 513t 8T = §er ot Jer 37

X, Y M3 ZMfAd ATSE 9 75, fAU=s 5 32 Mau 3 a8 g el @ ade I& |17 Z &F

fgefeare 3 a<f B9 3 MEU™I 5:3 T, TUT MEUTI fasT JSam?

U WBUTI € IIEET AIS T SOHBT S HY

ATl 3 Ha3 T 8 AT € Ay § ¥7d1 Agerdt € idt urs fe9 fen nisurs
MESHATT AHTGIAI 3T Arar I

() UBT g7t g9 : -

(1)
2.
3.

T HFUS = =T FUTS - (8) fammar migu3 (o) yareT
f3nmar »iguTs ygreT msuT3- (8) =TT iU (7)) F=T MBUTS
AT 3 Ha3 e 78 AiSE9 & Ay § ¥4 Afged € (At 3 feg

WMESATT ANTHIAI 3T AaT I

(€) =TT MEUTS () fIaT MiguT3 (8) 3= MigUTS (V) YT MaU™s
Usd HSTae y3T fea gr3T Jer J|

(©) =mafea (M 57-H39 (¥) femadas
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5. FUog wies ST STt OF At uet dt § w fa < midere o et I
3131 T AT % 43H § A7ieT I

3 AT IS TS

1. Y&IHBFe 3 I T8 &9 A Il § f6d39 Asear € frage UaT ufant e
IA3T3fa3 3T AT AIET T

2. f&x339 AReg feg = Mau3 W3 U MSUTI IHAT 3T AINTE I¢ I& |

3. faerfeg § 39 AT § E=HaT IH €7 FIFS IHET g fe g It 13T AT J1

4. BT YIH JfeuT SHT AUSt <t 3

5. &€ 9 ATSEE 3 Ha3 J 39 A¥Ed € AT fonr fan fea Afgerd gwmar ot yuz
a9 femm Ater 31

6. fH3a AgET € G@3afuad § mudt fe St fesae I B a iz e fes ST e a9
fes fomr yuz g9 = mifaarg ger 71

7. W3 M3 Adl aafat €t feemgr fee »ret anft § Harer fagr AteT

8. FWiZET € faefeaie 7T H3 € AN Usg HBae U3 f[e9 I T8 39 7 TaT &
Agegt o9 &5t 879 €3 MgUT3 MGHTT =fsmT AieT J|

9. faerfeaie € AT AU € Ysa-HaTae 3 I @8 &9 A a1 & Ul &9 &t
farar AT T

10. fan AigETg & faerfegne Af H3 € AN Afe3 &9 3 T8t § AigETT feg yaret
B9 F MEUTS MEHTT ST dJer I

11. foH AT € H3 € AN, ATSET4T ATl JUS '8 AIvedT @ A9l &9 for feg
T J AET JI

12. &€t <Y AT8ETT gTal AT AT € gAE! 578 It 9n fe9 faerfed I Aaer J1

13. faerfed I 30 ATE9 & TWaT IH € FAI3™S Fde AN FE Ut 3 § Sfae aisr
e J1

14. H3a AT § fge =& T § W 39 3 BA € E39fuadt € aoa feg us
feg guatfag a3 AeT J1

at_rfaamﬂ%e‘h{m:

dta €39 9 -

1. A,Bw3 CHESEH € 37 3 MUST BT 5 :4:1 @ mgu3 feg €3¢ I5|
A € ASEd 3 HII I 3 9T &< g MgU™3 o J=dr?
@ 3:1 (b) 4 :1 () 2:1 (d) 1:1

2. HUIPAT/EEdt € USI-HBTIe € IS % B9 3 I61 § fan e idtys feg

IAI3T3faa 3T AfeT J?
(a) fAde ATSETdt 3 A3 JE ATSE g &
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(b) =Tt g9 A¥ETT €

(c) A"9 ATgETST &

(d) fegst fe< fam € &dt|

fom Af¥ETg € ATt Ha3 I AN? At A fam € w3 fee qfse d=at?
(a) fAge AigETdt A3 ATSET &

(b) AT AT¥EST &

(c) A ATSETdT &

(d) fegst fe9 fan € a4t

#1949 fan Aigeg € faerfed I AN AUt © U's feg aitaT faprnr mieas &9
TIrgEr 92, 37 €9 fan € it y3 f<9 dfse g=am?

(a) g g9 AT¥ETdT &, YIS 'Y @F MEUTS MEHA'T

(b) T3 It AigETaT ¥, 8UsT € BT TF MIUTI MEHT

(c) g7 g9 AT¥ETdT €, 3< &' @F MEUTS MEH'T

(d) fegst fe9 fan € a4t

fan Afgeg © faerfeg 9< €, &9 f&9 fawa A3t aet =t Afes, far € IFt a3

feg oAz 3faz 13T AT gater 37

() 3T ATSEGI 3 HA3 I '8 AT © 3 &7 I It ATsEaT @

(b) gt g9 ATSETIT €, 5° BT &F MEUTS MEH'T

(C) A'd AI¥ETd @, UT'S BT F MEUS MEAT

(d) fegst feg fan € adt|

for AfgETg € ATl 3 a3 I A, AU € Usa-HBae S 9 T8 89 &
fom Uvit w3 feg gfse stz Ar=ar|

(a) T7dt 59 AT © §UaT € 52 BT F MEUTS MEHT

(b) AT 3 HAS3 T I AT © BT &F MEUS MEHT

(c) Ad ATSETIT &, §UaT € YIS BT T MHUTS MGAT

(d) gt g9 AgEd € €UsT € YIS BF T MU MESHT

A, B W3 C HigEd U6 fATsT € &9 5 : 2 :1 migurg feg Sfsmr Ater 31 C Aigerdt
I HII JuT I 3T A W3 B fegdd 3= &9 £ MgUTI ot g=dIT?

@ 5:2 M 2:1 (0 5:2 (d1:1

fAg J€t ASET ANEd 3 HaI JeT I M3 Il € ATSEd Yt AEut wifay
feuerar F13 faast quat & AUST 7 =TUT AT T4 T8 J9 B IS5, 3T HAS I
T8 AT¥E § &t yru3 J=ar?

(@) 39 fes €u for 7 con gwirgr Ol AUST © Yiidr &€t BF § €< geer J=|
(b) €7 & fe 3t A =81 3o €3 6% A& ©9 578 fed
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(c) S & &3t Are =8t gan €3 5% AsTsT ¥ 378 fens

(d) €7 <t 5= nignd Guaas g9t fes Jet 2t

fam AigE € ATt Ha3 9 AN, Ay & fane u3 fea 3fse ats AT 37
(a) fog A=<t Ha3I ATSE g &

(b) fAge gvat ATgETaT &

(c) A™d ATSETaT &

(d) fegst fes fan <t AfsE9 @ &t

3 Wdt TE YRS

10.

AgeTg  faerfeane 3 It ot AHge 37
et St ATSETd @9H I AT Ha3 fa= I AgeT I7?

fan feq AgeTd @t ATT-Ha31 AN faua3-fa93 AITGAS J9% ot 83 J<t 37

TUT MEUTS ot I7 fen & arEsT g9s T eeyET {5y

A9a3 Ales a3t ot gt 97 few e €< ot Jer J?

€3 faoatm™ vet I fAgsT et A Ha3 T fagr Aseg fiiea ger 37

X,Y M3 Z2:1:335 &Il <TI0 3612 faefed J faprr J1 o<t 9 &5
MEUTI X MI Y & 1: 1 T f3mar igut3/ U7 mMguT3 u3T 39|

MBET, HeT M3 I BF S 9 : 5 :4 T mgu3 fTT T B¢ TS| dieT AT Ha3 I
AT I wWI QreT A9 fOHT I & 8T I wWBeT I I |t 59t 8T €3 migu™S
Y3 AT |

IH, HTH W3 IS 3 : 2 :1 MBU'3 &8 BT df 3 Jd< I& | I faerfed T fardr T
feg &< &g MEU3 T dIEaT Jd |

abmM3 cHMURfEg &g S 3:2:1 AR HI3 JE J1TIH €t HY €T HS 72000
JUT ytfeT fapdT| SHa™Y e feed™H U a3 |

4 AT TH YHS :

1.
2.

f3Tar MEuTa M3 T U MEuTa feg Wizd €R|

&< B T3 MFUTI o1 I I AgEg € faerfed g€ an fer & aresT fa= gt At
J?

AST a3 T 34 AT8E9 € u3 fe g faggtt wet dfse gt a&? fenmfanr a9
AT X, Y %3 Z H99 31, 2015 § A € W3 §UT 40,000 JUT T &9 aHGE
TSIETBFIS IHTT 5 : 3 : 2 MFUS 3% T3¢ IS5 A 30,2016 3 Y €@ H3 T
Al J1 f3s Halfen st Gw @ &9 @ fom, fues s € &9 € Mog §ug usT
a9l

ASGIITTH J §d ATSEd § FII3'6 Jda GdT IHT &f IIesT AT fa= Jddi?
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10.

11.

fam <t AigeTg €t H3 @ AV fa08 AITEAS J9& ©F &F J<t J7

HST Ha3 J 9J ASYd @& gadt aTHE & AHGAS o feut ot J<t 31

A &1 97 AT¥ET € faerfaie 7 H3 € Mt Ay e fe<ore fag Agdt J7 Ailseg &
faerfeaie 7 Ha © AN Wy ©7 fe<ag 79 @R

P,Q W3 RMun fe9 89 § U9 € Mgu3 3 2 :1 f[T9 <3¢ g5 | gt feg Ay
TTHE 1,08,000 JUT UTfomT AiaT J| AT a3 Jer J M3 BW € Aer Hadt @8 fes
HY & HS 1, 80,000 JUT ATl W3 wun feg 3feys 39081 § 3: 2 € nigu3

I TT AT IIT IG5 | BT FHEMHT € fFEITH UH IT|
X,Y »rur f&'9 9999 € MaUTS WEH™T ATSETd I& | HT99 31, 2015 § AUt w3

geoTdHt € I8 36 By »igHg A
Plant Rs, 40000, Stock Rs-15,000, Furniture Rs 18,000, Buildind Rs 80,000.,
Cuditions Rs 11,000, Bills Payable Rs 7000.

J5 fou ysg-Hatae € Ae-Ha3t §ug fa3 A& | uste (Plant) € fea davet fom &
25% &% =urfenT fariT; € Stock -7500 3: € H'S 8300 J: UtfenT fapdT; Furniture &
WeT I 15,000 T: S13T; Bills Payable &t fimime »ia yait &4t (Bills Payable not likely
to mature Rs 1200) -1200 3:, Sudaas € B3I ffwa™ U'N a9 M3 UST HBaS 43T
fanma 331

Anju, Manju and Sanju TR ST F & FHTT 3 : 1:1 MEU'3 &% =< JIT TN
feT AfsEg 951 31 Hay, 2015 § BT v #fav foar Jo fayd nigAg Al

Liabilities

Rs

Assets

Rs

Bills Payable
Credities

Capital Accounts
Anju

Manju

Sanju

30,000
90,000

1,50,000
1,00,000
99,000

Bank

Debtors

- Privislons

Stock

Building

Profit and loss a/c

31,000
68,000
680,000

2,70,000
20000

4,69,000

4,69,000

Manju ITde"d 3 A=™-HaI T ATET I M3 ATSEd J6 fBY Uad HBae et Afons 3¢ 75|
(i) ferag e s 10% =Tg
(i) BTET E 10000 JUT 57F W FI3T 1 T MW FI7 |

(iii)
(iv)
V)

(Vi)

HOH3 fa% @7 2000 guT safenT /il

Halfde et fHaga e@cerar §uT 104 € feergr g

TIH & HY T H'S 75,000 JUT J|

3 20000 JUT FAT T J1I 41 J9d U3 fe T ITEIB! A3 I USd HB IS yTaT

w3 Agegt € Ut u3 fee fawma g
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Answer Key
AgETg € faefeane ma W3
€39 - (2 Markseach)
1. fom Afgemg € foerfeg I 3 grat AigEd § YUz 7 mgU™3 |
2. BunEET, fAgst € vimt i fan ufseess € s3im v o Jer 4, st § &9
Y3 96 T AT¥ETg faar AieT I

3. @IH T HfATT USIIIes fAR € #39a13 UdTet ATSEdt @ w3 T ATer § M3 gt
AgeT fe's <t HiveTdt 5 T At 31

4. yI'e &g T3 mgu3 fegl

5. &fer evar, AgergT € AfoHSt 7%, WUt AMS S ©TdT |

6. 6%ABET

7. fs339 AigEat € Mt v3 § U migu3 migHg 3fae M3 faefed/Ha ga AisEa ©

U3 § Ay fe'e 8w € fow wigwa dfse atgr wier 31
8. ASTdT AYUT 3¢ AHE 3 fe9 di3T AT %' Ufd=d3E @9H € Uad JI6& Jer J|

9. A y3 f&g ydt ga dfse F13t ATEl I M3 AfgE9 € UFl U3 UI'e B9 &F
MEUTS MGHTT 3fae AT 7 I5|

10. Continuing Partners Capital a/c (U™ MEU™IS "ESHT)
To Retring Parttners Capital a/c (feefeg e =@ AigEd S AU E MHE &5

11. Afg3 &9 Af g7&1 § A9 ATgETaT (faerfed d& =8 ATsET mi3) feg uae 39 <7
MEUTS &% =g AreT I

12. H3 € "% © »iA3 &9 & WUg I

13. Yd's B9 < MEHTd MSHT|

14. feg »ifact ghr urfert gt I fAm € wig9ars AiseTeT & Auas gu fee mes gir i
fapum Jer 31

15. AiTs gHr 313 st ad-Ad" frg §i austit § 3T Are 78T gargTs |

16. I AT T oy e R oA e son digT A I M3 fea En §
famat f<9 nfag ferma Ta mig s7un 99 feSt /i<t T

17. (8) fug® mst @ B9 € mug 3 () feadt © mmaa 3

18. {3 AfgEg € €39 fuardt § ©< war gl IH € FA3'S J96 BT YU F9a7I

19.5:3

20. 3T WMESUTI- Yd'eT MauU3

21. OT MEUTI fE gl

st gret @ €939

1. yWdreTau 3  (2) 5 MU 3 (3) QT MEUS (4) 8T-HT3d (5)H3



(T) BT AT IBI TS & €39

(1) IH3 (2) IBI (3) IBI (4) AT (5) ATT (6) AIT (7) AT (8) IBI3 (9) ITHI3 (10) B
(11) AdT (12) I3 3 (13) AT (14) AT

(W) g9 feasut St yms € €39

1.(b 2.C(3)b(@ b (5 C(6)C(7a(@®)d(Oa

Chapter- 6
ATgETdt TIH T W3

2 Wt TH YAS

=

O 00 N O A WLWDN
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w N - @

14.
15.
16.
17.
18.

19.
20.

21.

.1. TIH € BT WI Tt @ iSRS @A

SIH & FTaHt W3 St & Afagit @77

AT @90 @ W3 3 T3 ot = I?

MTBI T TIH & W3 @ Gem ae fegr Aer 37
ATSETdl @91 @ WI € HY ddS o Je I&7?

&fen At 9 991 FI&T ot JEr I?

TIHE STt Mz I &t = J?

SIH © W3 It FY-T Y AfaItt faagint o7
NTBI TH SIH T M3 IS & € A9 €7

. ANS3 WEAT W3 ot JeT J?

. ‘TH®T yagfemt &t fenrfipnr 37

. AUSt & ¥9< 3 gfe, faost ecemdt Ag 3 ufast nier a1t At 37

. TIH € W3 AN BT fazsmagT f&gara oo A S9W ot AUShT fE< 2,50,000 JUuT

THS 3 IIE I&?

ST €9H & NIt ETEIHT T FII3S fan 3gT Eanrgar?

IV © W3 AN, TIH & Jafet w3 ATSerat © fo vt Safamt a7 Int ot fegrg g9ar?
IHT ATSTd © 990 U3 &'8 ot fesard J4di?

TIH &7 IEAT AUt T fEgaH fa g a3 Ar=ar?

feq ATSETT HU® ©T3™ 8000 JUT T AT uale & famim i gan & #ig i ater

fagragT f&3arH ad |

SIH € W3 € fana J13 A'e T8 ufamt € s fay?

SIH ©ATTT fed ATYETd HUS & 4000 JUT € THS! HIfeuT &7 FAI376 JI& & AfgHIT
yareTet aret /Y | ugg I3fed Hag 6008 gue JfemT| 3ter fagrgar f&gara 37
feq AiseTg dies aT »Mruet 7Y fE 9 5000 JUT © THST yafont €7 gag™s d13T
fapu g7

29



22. fg® fTg rronE mET =8 Fat aafat 575 It ot fesarg Iadr?
23. 9H € W3 AN, ATsEat &t fa ot iudtt § A9 3 ufos™ faost geedt e o

q9& B YT A3 Aer I?

() ISt gLt 99 : -

1. W € Y34 I AN §T o fAgat won s™-aigtmt Aushnt 3 yruz 9t 9, 69 =pst
y3 e yH feg anat3fez otz Ater 71 (3fae/adfse)

2. A EIHUSHI AT I, AU Y3 § feg gAzz9e 3 amE e AT
ATET J| ([T U3/Yad HBEE HT3T)

3. =pstysT e Yy 3T J| (VA /TA3fe)

4. TIH € ¥ I AN Adtt AUShit w3 Scerdtit § epst us feg Bust @

H&" 3 anrfenT Ater J1 (Idt/faaT)

5. TIH € Y3H I AW, ATSET &t fo o iust § rg 3 ufost deadmt @
FI3's BE Y&ar A3 Aer J1 (fs 7t/Aaersd)

6. TSI I AUST & T 3 g€ YU I JaH & THBT US © UH M3
saEt 4TI & UTH E9ATfemT AreT J

AJ1/3B3

1. fes € AUt uw fe9 Hge 879/07T 43T A9 § San e J| (Fd1/3183)

2. TIH T YIH IS AN 7€ 3aet/FdT 43T fmmg 13T Afer J 3T wifag u3 € 3fae m3
gdfge Uy Tt gAHT g9Ted ISt IrdtEdt 3% | (ATT/aTS3)

3. =PSB U3t €T & Hr3eT 43T I | (At/aE3)

4. TIH T YIH I AW 94T ST € IIH &7 IAI3TS BTaT JeT 71 9= fem AEdt
yHs fE9 g9 &7 Sffm fapr 9= | (At /3% 3)

5. =H8! yafont 7% Aafuz det & fegew E An &t disT Arer gdier Ae fea
AgeTg fen § fenadiars w3 fat 39 3 Afge J9s et Aforz T2 | (ATY/A1B3)

6. f93 feg Ut areht vet § frge feq Aqr 3 Jt 3frm AfeT J1 (Fat/a83)

7. WY goH € fewes mi asfuz mudhit § AiseaT € UHt u3 oo 3uets digr Afer
I (Ad1/IB3)

8. FIHTTST W= &8 §'Jdl eeedt J | (AIl/as3)

9. it B W= €3 fEq grodt eeeTdt I (Adt/a%3)

10. FIHYST §93 &3 feq grodt e<erdt J1 (Adl/as3)

g3 feasut 9t yms

ota @37 g

1. ¥¢ TIH YIH J€1 J, 3T THST U3 € ' A I&T § Aiged e fas =fswr Arer I

(a) B T MEUI MEHT (b) Sarsg
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10.

(c) Euat € (M 3 € gae mignd  (d) fegst feT aet &t
I

(@ BABTATTAINS fAgzrSHwed=E (b) =T HE

(C) THT HE (d) feost f<F aet ot
. TIH T Y3H I< 3 AisT9 & fa At AUt fan 3o 3¢t Ag 3 ufgst y&ar a3t Atet
J?
(a) SO Tt E=TIMT @ FIAISS BET (b) faat et € gargTs Bet
() feuat foF a1 oot (b) a W3 ba

IAIT3(I3 3T A ﬁ'|

ERIEECER (b) AigEE € (At U3
(c) BET YIT (d) =FStu3
. I € ¥3H I AN &7 et AUt 3 YUz de =%t gt § fa g adfse aier Ar=ar|
(a) =aet v feg (b) =@t o3 feg
(c) Uad W&Tas y3 feg (d) fegst fe< aet st
Adt AUSt 29 3 ¥, A9 3 UfasT faast wmerfeait 13t At J1
(a) F¥ETg &t Ut (b) S=erdort
(c) AT¥ETT T Jau" (d) fegst fe< aet &dt
. H TIH U3 3T AT T, Ay 43T foaos 43 feg oA3 3fa3 999 g€ 3T ATeT J|
(a) =@&tyr3T (b) wigETat gr Ut ur3T
(C) U&d BT yr3T (d) fegst fe< aet &dt
. TIH Y3 I AN Aad &t aret ecerdt e gass J13T e 3T GH § fa e Sfae aisr
Hr=ar|
(a) T=edt a3 feg (b) =Fstu3 e
(0) migETg & Ut wr3 g (d) feoat fe5 et 5t
. TIH T YIH I AN, Mr. X 7 fa fea Aise™g 7, enar B¢t aret &7 faaas iUt &
fag 3fge otz A<ar|
(@) AuSty3 feg (b) Mr. X € {Ftuy3 fee
() =&y f<g (d) fegat fe5 et 5t
E9H € ¥3H I AN Ut u3 fe9 99 gae § fa g gnsr3fe3 a3 aier 97
(@ Fay3 feg (b) =p&t u3 fee
(€) &9 w3 Tt yr3 fe'g (d) feoat fe5 et st
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11.

12.

13.

14.

15.

EIH U3 IS AN IH 900 JUT THST YaY =+ AfIS Jd& Sel AfoHz T AT J udzg €W
3 TSB! 4IY 3 1200 JUT YT JIs UT | TFSt U3 fe T 88 vaw v 3fae sz arer
grdter 31

(@) 1200 JuT (b) 300 FuE

(c) 9ee guT (d) 2100 JUT

=St T feq

() FHUTIT yr3T (b) faat yrar

(c) T3fex yr3T (d) fegst fe< aet st

T9H € §¥ I AN, Ad9 ASET ¥ Ut a3 feg Sfae sarfenr 321

(a) EnE BT FaEt Y5 J9d Sfae gaT § YIT I35 UEar|

(b) €7 & S0 € ¥3H I< 3 /TS YU &dF I

(c) EFd saet & d M € 87 a1 It I

(d) fegst fe5 aet &dt!

SN © W3 3 e, AIUST {9 F A 3o YUt €1 9, urfant € feued et Gn & A
3 ufgst faost mefeatt set yGar a1 Aer J1

(a) gaH &bt JiT fug €% St BEt

(b) ATSETT ¥ ToH & fAU3T Umalt g9 fe 3T 3=, 87 & =7un a9s &et

(c) AgETg €t fa il ecedt B

(d) Ut yr3 =T gqTfedT weT Jds B

3T g9d i3t AUt & f9< 3 YU3 I T8 39X § a8 ganrfen Ater 97
(8) SHS U3 € qdfge UH M3 Fdet 43 € Jfse UH

(b) =FSY ¥r3 € 3fge UH w3 saet ¥3 € Sfae uw

(c) @& U3 € 3fge UH M3 39t U3 € Jdfse UH

(d) =FSt ¥3 T Jfse U’ w3 sa<t U3 € Sfae uw

3-3 W TH YAS
Y.1.89H T Tt W3 &t 97

2.

3
4.
5

THST 43T &t 37

. TPSty3 ¥ 3fae Uy € foargs gt Are =8t fefds wet faagt Jet 957

AT @90 @ W3 3 T3 ot I I7?

. faH @90 € W3 AW @90 &bt =ghdT feg AT A'e =% ff3ad fag=z a&?

(i) A€ FA3S fgaax &7 13T et E=erdt Bet A3 7er J|

(i) A< J€t A= fan fadras &7 A13T IET E=eTdt &7 FA3'S 9 & faH=dt mus
frg e T

(i) 7e" It fagras &7 13T aret AUt § I AfgeTd evmdT YUz ag fam Ater J1
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9.
10.
11.

(i)
(i)

far g € M3 AN’ faus fefds aen ga AT I

feq AigeTdt € W3 I ITTST AT ITE J?

I AN ooz fewaH foaras a3 A 767

SIH € Fan M3 fa vl gan fegsT M3g enr

THST U3 € Fdfse Uy 3 faaras gt are Tghit fefds wet faggt as?

Z and Y were two partners sharing profit in the ratio 2 :1 Give the journa entries at the
time of dissolution in follwing cases.

Defered revenue advestising expenditure appeared at 30,000.
Profit and Loss account was appearing on the asset side of Balance at 60,000.

(iii) An unrecorded Investment realised of Rs 6000.
Q12. Maninder, Jatinder and Rupinder are partners in a firm sharing profit in the Ratio of 4

:3:3 respectively on 1-4-2015. The decided to disssovle the firm. On that the sundry
assests were R1,74, 230. The Creditors amountes to Rs 23,150 and cash in hand was
3,920. The assets realized Rs 1,44,910 and the Exp of dissolution was Rs, 1,860 Prepare
Realisation Account.

4-4 W TS YAS

yl.
2.

3
4
5.
6

(i)
(i)
(iii)

far gan € W3 AN faus fefds aen ga AT 957

nifadtot fom 979 Afadtt T Tga< 99 fAusT fE9 AiseTat gan @ %3 &3 AT 37
THST 4T3 T sH&T fang 47

AT¥ETdT € M3 M3 ATSETT 89X € W3 feu® et 979 W39 eh7

Y& HBTIS U3 w3 s U3 fe g det 99 W3a env?

Pass the necessary journal entries for the following transaction on the dissolution on the
firm of A and B after the various assets and outside liabilites have been transferd to
realisation Account.

1. Bank Loan Rs 34000 was paid.

2. Furniture work Rs 70,000 was taken over by pardnes A at Rs 43,000.

3. Partner N agreed to pay acreditor Rs 7500

4. A Computer previously written of fully, realized Rs 3,900.

5. Expenses of realization Rs 3,200 were paid by partner. A

Profit on realization Rs 4,800 was distributed between A and B in 5 :3 nation.

X's capital Rs 30,000, Loan from Y Rs 20,000 Advance to X Rs 20000 profit an loss Rs
80,000, Y's current a/c (cr) Rs 30,000 Y's capita; Rs 40,000 loan from MrsY R 1,20.000
Trade creditors Rs 1,20,000, Fixed and current assets other than cash and Bank balance
Rs 1,70,000 prepare Balance sheet.

A and B were partners in afirm sharing profit in the ratio of 4 :3. The firm was dissabled
on 28.02.2012. Pass the journal entire for the following transaction,

Debtors of Rs 60,000 was takenn over by partner. A for Rs 54,000.

Creditiors of Rs 45,000 were paid of a discount of 5

Realisation Expenses Rs 3000 were paid by partner B.
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(iv) Loss on realization was Rs 21,000.

Answerskey
ATgETdt TIH T W3

2-2 Wt TB yHST € €39

1.
2.
3.

10.
11.

12.
13.

14.
15.

16.
17.
18.

19.
20.

(1) fam ASE9 & =BT I 3 (2) TIH T FUT 1T TEH! AgY BT I A 3|

(1) far Afgeg € Slea@h d= 3 (2) TOH &7 YT T 4o  AS I

AsETdt Miafat 1932 € UaT 39 € MEHTY, “GIH © W3 3 I'< SIH © H'd HisTar
feg ATt € Wz 3 T

(1) far AfgE™ € uais AT 3 (2) fan AisEg &t AETEl WEISTI

&< AgEd @ g T, fan AigeTg @7 fgerfeqd g, AigeTd @t Ha d<7|

A¢ J€ AT¥ET § AT¥EEl € W3 BT faust &fen e 9, fen & Sfew Adt J9d gar
3T fagr Aer I

wfAdt AfaSt fAw fe9 gad @7 W3 I9&T BTaHt T A< 6W g9v e sTat W3 fagr Afer
af

(1) 3=t % (2) fam femm wesT € TUes J9s W3

(1) fam AigT9 € U9 97 (2) fan ATSEd ot g9-fe<aal

A< H'd It ATSTTd, ATSTTd] € W3 §d& BT AfOHI T A 35|

AU St & TH8T M3 EeTTd € g3 Bel J13 I YafonT § THST Uae faor Ater
I

Jtndt fug & i3 ATe =787 AT |

Bank A/C 250000
To Realisation A/C 250000

TFSt ¥l € 3fge ui|

feradare aafmnt & fen@3tee AUt fee wer disr Ater J1 ofuasT &
a33fag a9 fegr 7w J1

IHdT fug €t SceTdhT & gaI3™a I M, ATSETdT € odd €7 gaIgTs 13T Arer J|
THST JTET ITHY AN TEST U3 € Jfge UH|

Sohan's capital a/c 8000

To Realisation a/c 8000

(@IH & W3 f&9 Aas mar femT fardT reTa)

393 43T, TEST UT3T, AigETg € A 43T

Realisation a/c 4000

0o ap
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To Mohan' capital a/c 4000
(AUS ©ATaT @aH < gF 3 TFST yafant gr ga13™s)

21. Realisation a/c 5000
To Jiwan's capital a/c 5000

(Fi&a gnma gor & gf 3 TEST yafont €7 gaE™s)
22. g1 =TT ANI TEST U3 € Jfse UH gA313fa3 ag fe 3T Ar=ar|
23. fodt e=edt|
Bt FETS

A O A W DN =

:
13
5

SEEERRENE

(a) I3 A gAT HB gz <t we 3=
(a) SHUTT ¥T3T T

(d) =p8t yrT|

(b) =pst u3 few

(b) S=araPut

(a) THST T3

(b) =St w3 fe

0 N O L A WN
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9. (hMr.Xeimu3fes

10. (a) T y3 feg

11. (C) 1,200 JUE|

12. (a) a™UJT Y37 J|

13. () 87 3 BT saE! Y5 J9d a9 99T § YaT J9aT U=RAT|
14. (a) SIH Tt J1HT fug €% St

15. (d) THST 43 € JfFe UH M3 sa<t ¥'3 € 3fge U

W Ut
2-2 WAt TH YRS
fevarz ya= »ifuarg #m &t J€ I
83 3T ya= wfuarg #m &t I< 95|
R Uet ot gt
JUET MTufsTH 2013 MSHTT HHT Tt faadT & &F @R |
S femt @3’ Tt e I?
wwt et €7 faagmt € famdt I, 7 Juat A9t 99 Aaet 37
wwT &t AESt I ot = I?
yhity €3 vt € fsam 3 gosT ot = 7
weufaa €3 ot J<t I7
. Trgdt € garfenT gl 3 fen € durdde feege fa= d=ar?
.9 Ot &t gt T
. UHdit grgaT=t 3 ITTST o I I?
. wTtE ST at gt 37
. WAfe3 ya= wifuarg Ww ot 9€ 987
. JUST € € Hgdt BT T TISS JI7
. w93 UH &t g€t 91
. M3 Wt 3 IITST o1 ITE J?
. o3 € fan frgdy Iat, ySigatm, Uhitnd & Earfenr aier 31
. Grg&T €t gafenT It T 98 € fan fiedy Jaf mimeAs aitgr Afer 71
. WTg&T &t garfeuT gt &t It 37
. €T u3 T &7 ©R, fAn feT A9 #mt § g9 AT J96 3 gfE wiH AEst e’ fee
Sus gy gafemT graT3fazs 13T Jier J1
22. vt fomae ot ger 37

O 00 N O U AW

e e i
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® OV 00 N O W
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[
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23.
24.
25.

26.
27.
28.
29.

30.
31.
32.
33.

34.
35.
36.
37.

38.
39.
40.
41.
42.
43.

44,
45.

46.
47.
48.
49.
50.

fan Ae3a Just € € Agdt Bee €7 T9es d4 |

JUST F ITST AT ITE I?

J<, 3t 89 faust Afest g=aft?

fsGs3H Garers 3 &t 7= I7

UHalt areaTet 3 fenH e Butde fesad fa< J=ar|

quat e fosT fan get 3 w3993 fanma a3 AT J1

A931 I3 I T € Usd-foa™ 3 g7¢ W A93T Y3 € S97F € JA3T3dS Bt fauzn
fagraer feean iz A=

W 793 U3 § fan 3o miz [+ fomae feg onz3fez g9 fesr Afer 97

fas-u3g yedr € we-we I faat gt J1
ASt &bt AT WigHT, We-w'e ger ot gt 37

WMHE ST-HITHS &1 386" ffe T aH & feT dfse iz Arer gdte
J?

HE® yafout 3 ot g7= 37

w3t st &t 97

A3 HIs 3 A3 &t J<t 37

faw fam € ya= »ifuarg #»mt § fue® A& € 37-yu3z J= ®9H § BF AN 0% dd6
T wifgarg ger 1 A< €t €z avret yuz 927

WH § FEI J9& A, W Ut u3 i Wi Uet € faost gad sfae st Ar=ait?
Jquat nifafsm 2013 »igrre quat €t ufggmr feg

yg< nwifgarg wim &t ger 97

Hfe3 ya= wifuara #wm &t d€ g7

ye 3 Ut &t g€t 97

Suatt mfafsed, 2013 & Ifgar »iT g, fan <t Juat @ar Umail graaT=t

€ya fag=t w9 3 fouma e Fa3™s J13T AT AaeT 37
T & UST ydte’ 3 ot e 97
AT 793 a3 I WA T §ust € yE3 a3 578 U dH3 3 Usd-faam g9 fezr

A<, 3T YyuI JH T IaH § feg gm fesr a=am?
&3 3T ya< mifugra »mt 3 3osT af g7 J7

fan fo#t Just € € Agdt Be< 979 €R7

fesarm et ot gt 37

fama= U=t &t g€t 97

TIAHS €3 v @ faam 3 IgsT ot F= I?
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51. Unalt waasT=t § 98 € fan fAedy Jat eantfen Ater 37

52. A€ 793 13 9 #ET € Ui YUz &7 39, 3t omt & 793t € A faoaT feweH
3T ATEar|

53. quatit nifafso 2013 & Ifsar We Mg wosT & awt gafeq amt €3
foraaw =9 faat It 37

54 fqg=z »mt @ ®9™H € @9 Afgd gt 3?7

55. Ufg=a3asH® ya= #fuarg #w ot J€ I51

Bt gret 99 -
1. ffasstaust I umadt sdt o9 Aaet T
(@9, 82)
2. JEt < A3 Just W ATt &4t g9 AaEt 97
(vEar3/AaTars)
3. WA ASST U, € g § 73 13 WA § g9 J
(F=eTdt, e=eTat)
4. fad ¥ fAgg yae »fuare Ww &4t §<, Boat & fargr AtET 1
(AS3S WH, AHIT WH)
5. WA € 7dt J95 3 faogt i yuz J&t 916n g fes = 3 feufenr
7er J|
(Serdit, FTeTdiT)
6. WHASST U3 € e § fos few fra®y Jot TarfenT Fier J1
(=7 Uet/ #m et
7. ®IH T O3S M3 [H & TURt fET ya=-nifaae yuz #mt § faar
7er g
(yg= mfudrg ww/mMyd< mfadra #H)
8. WHEF Y3 fea 3T gar J|
(ferma3targ/aarardt)
9. FUST EAET HE U =9 YUz I § Just © fee fee fAg®y I&
TanTfemT AT J1
(Y3< HfuaTd #H/famaa=s W3 =77)

10. A€ WHT § FE3 J3T AET J, 3T FIS'S B IfenT wES=T T YT
gi3T Ater J1
(dfse/3fae)
11. fufgz I+t e €U fom fAn & 3<% duat € §€ J95 AT Te3 a3 AeT J, B &
fagr Ater 91
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(rfag §+/foma= U+1)

S AT BT TS

1.

10.

11.

12.

13.

14.

15.

JUaT fan 3 S Ha ™ J9 Aaet I W3 fer §ud = HaeH™ 13T A7 AaeT J1
(AIt/aT®3)

793 13 At 3 fe 3t AT T8 8¢ 793 Ji3 AT I YIS I IH I FU &I T

A<t J1

(ATt/3IB)
. FUST T 79 feq HEg & ygu feg ya fomr 8 v mifugg ger
(ATt/3IB)
. y3< mfudgrg #iF et & Afgg €9t 3 I e J1
(ATt/3IB)
. e =t Juat g8t femadt € gu feg gt J1
(ATt/3IB3)
FUST & HEat & eedt M 39 3 Az gt 91
(ATt/3IB3)
. fa&-u39 €t 9o a<t St it € Wfas HE € 25% 3 T &4t T At J1
(ATt/IB3)
. AUST E WHTIS JUST € IT9AT BEt faHeTg 9¢ 351
(ATt/3IB)
. JUET @ % W™ 39 3 TAST3IS WaT I¢ IS |
(ATt/3IB)
guat T fagond (3Tfedaed) W Udd J=T Irdter J1
(ATt/3IB)
WA U9d JUST € BT J¢ I |
(ATt/IB3)
n fg6-u39 yr3T fe femagiars uar ger 31
(ATt/IB3)
JUaT € I T HET MU JIAT B JUST § faneTg I€ IS
(ATt/IB3)
Fuat & yrfawt & 79 Aer 9t fega g<t J1
(ATt/IB3)
faa-u3a <t g Wt € Wifda H'S € We-We 5% € 97 J<t grdiet J1
(ATt/IB3)
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10.

@
(b)

11.

@

feamt 9t yms

Y3 9 TradT § fagsT ganr YUz der 1
JUST € I

JUST © BT

fegst &9 faust ve mist U+t & fomr &at 97
ya< nfuara

W Ued § fausT genr YUz Jer Jl

HSS

Aarfars w

50 JUT ¥ fe'a AruTds #im BE we-we faa-ga faat 9t gt 37
2.50 JuT

2.00 JUT

AI=AGA qUST faas »im A7t &4t o9 A<t T
AErfars w

AH3T W

sHuEE e Ut &t get 97

i U+t € MfogsH gt 7 Just At g9 At I
W g53t 43 € AgY fa9d fAgr Jer 91

IHUGIS 43T

TH3fed yraT

. YSgStut Yt € gu feT et it & faga-fags w3 fe'e gdfse iz Aer 31

Ut foma= yrar
YIIg3PT Yt yraT

. &S MEAT, TrI&T gJTfenT IHT I faaT forma Zarer 31

7%
10%

YIS UdTd HE U JIF |

BITH T yUSt 3 Just € §E T AN U & Tur e ufosT oF deT 31
auat € Y FEdt ufost 39 geT 1

fs€=3H v g3t Hear faat get J1

2 JUT Y3t Ww
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(b)

12.

(@
(b)

13.

(@)
(b)

14.

(@)
(b)

15.

(@)
(b)

16.

@
(b)
(©)

17.

@
(b)

18.

@
(b)
19
@
(b)
20
@
(b)

3_

WHT € STHUTS HHI €7 50%

YUz Jet yIraait § yar Jafent Ifent, a3T #mt 3 yers dda War HiuasH &8¢
faat <t 1

10%

120%

U3 F13 WA § HI J At J9s 3 I 8 We § a0z u3 fe'e ganrfen Ater 97
fg's € et U

feo € Aust um|

Had a8 qUst ITfEar Wi MueTEEt I, 3t fen § Umait wroa=t 3 fawT fers e
e JI

12%

6%

ATdt A W 3 YUI I T8 Y & {38 yBiar S3T A7 AaeT 97

Y3 YS 3 §&H T HTdT J9& Bel|

B9 <F Bt

W § 7e g9 A U3 3T Uit § fa g eanrfen AteT I

fos € esudmf yu 3

fes e st uy 3

am3 be< Tl

HY3 S WHT @7 gqrfenT ot Jer 31

Ut foma=

mHes famae

WH 73t 43 © gaT § f9s fE9 fan He € IaT eantfenT AteT J1

wH JHT 43T

fomee Mz =7

At S aeSt e A w3 &

wHt € Y3 ITH 578 dfge di3T AeT I

g3 W & I 575 3fee e Ater J1

. It fafumt iS5 faoa-fags €ew et ¥ yhiti fora= y3™ y&iar a3 A7 Ager 97
JUst & HES yafent € ur3n et

qUST & IraA-U3TT & E¢ T U3 B

3 WAt T YRS

Y13 i3t 3 o3t M3t fe g W3a J4 |

41



O 00 N O AW N

e e
N - @

13.

14.

UHaTt IO M3 WTI6T ©f gaTfomT I feg M3d a9 |
E3 13 I W § ysI-faaw 3 gusT &t = 7
U3 Haas3 AT W &t J¢ 35|

T €1 Usd yate ot <t 31
ARGt 3 IoTsT ot ITE 97

AETfarg B &t geT 31

MfaaTg MUTd3 g ATdt ddaT ot Jer J1
quat &t I7

. 3™ W 3 IITST ot ITE J?
. "ifez ufos murfag e st Jer I
. A Limited company forfeited 100 equity share of the face value of ¥ 10 each, Rs 6 oer

share called up, for non-payment of first call of Rs 2 per share, The forfited share were
subsequently re-issued as fully paid @Rs7 each. Give necessary entries in company's
journal.

A Ltd. Purchased assets for Rs 4,50,000 from B & Co. A sum of Rs1,75,000 was paid by
means of bank draft and for the balance due A Ltd. issued equally share of Rs 10 each at
apremium of 10% journalise the above transactions in the books of the company.

(Issue of sharesto promoters and under-writers)

Angad Ltd. issued 2,500 shares @ Rs 10 each creditor as fully paid to the promoters for
neir services and issued 2,000 shares of Rs 10 each. Crealitaed as fully paid to the under
writers. For their under writing services. Jourmalise these transactions.

4-4 Wt T YAS -
y.1. fs#t quat W3 reersa quat feg f3s Mg en|

2.

O 00 N O » M~ W

FH3T 7 M3 mifars wi fegara ot W39 T

w3 dt gre 37 few St Y- famit € R

Ut 793’ 3 gus at = 37

fs@aaH 3l I o at = 97

e BEt Mfg-inSt 3 3t ot s 37 @7 fs ot e fewome fae sita Arear?

wmEt & yifiend €3 faam 3 gosT &t 7= 97
. HE® yafout I IasT at g2 J7
. WA g7 gdT I IITST o ITE J?
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14.
15.

(i)
(i)
16.

17.

TGS dF SATEHT ITHT M UHTTT WTg&TST € %dg ANSTE

Aneesha Ltd. purchased machinery of Rs 90,000 from Arsh Ltd. The payment to Arsh
Ltd. was made by issuing equity shares of Rs 100 each. pase necessary journal entriesin
the books of Aneesha Ltd. For purchase of machinery and the issue of shares when.
Shares were issued at par.

Shares were issued at 25% premium.

Ram Ltd. received first call on 19,2000 equity shares @ Rs 3 per share. Which was due
on 1,4.2012. Mr. Raja holding 800 equity shares, however, did not the firdst call on the
due date. This amaint was received on 1.5.2012 together with interest @ 5% pa open calls
in arrear account and received the above transctions in the booked of company on
1.4.2012.

A company purchased a running from X Ltd. For a sum of Rs, 1,50,000, Payable
liabilites consisted of the following.

Plant & Machinery Rs 40,000 Stock Rs 50,000
Building Rs 40,000 Cash Rs 20,000
Sundry Deboter Rs 30,000 Sundry Rs 20,000
Sundry Deboter Rs

Sundry Crediters

Y ou are requites to pass necessery journal entriesin the company's books.

Answer Key
W UHt

WMeAg A fed forfaa AT Inre STUR 96T STaHt Jer J1
wifAd W fAgst € uoat § f€q fonfes 9 &% g9 Yo »fuafes &9 yust €
e gaTfenT B9 feg 2 AuTds wfAuah &8 fadurfag migurs feg fored d=
" wifggg Jer J1
feg fsam (wt e €9 fowr 3t 9, fame Aa3T evma Gares fegr Arer J1
FH3T WH, Ud< Afudrg #im|
WHT & W™ BT A9l J96 & gae fAge yH famd € fenadtt A Ygmraat,
nifrargaT & #i ATt gas § wmt & fa it @3 fagr Ater J1
FH3T WH, Ud< Afuarg #im|

WH&T MEHT €37 €7 FAI3TS &7 Jd6 3 WYICH3T HEIHY § U3 99 GF € W &
TUN & BT

JUST EATT Mfd3 HS 3 U NS © Wit e faam Jaar Ui €3 #mt e fsaw
Jar J|

T&3T AT HaT I I8 #ET €7 MEyuT3 feg »imt € €3 J957I
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10.

11.

12.

13.

14.

15.

16.
17.

18.

19.

20.

21.

23.

23.

24.

25.
26.

27.

28.

Bank a/c Pr.
To Inerest on callsin Arrear alc

fenma €t =pst @8 fes|
Interast on callsin Arrear a/c
To Profit & loss a/c

"ot € gatfeT ot U3 3 fenm |

i [+ 3 7= Wt § At J9a fed ot A3t Uet I

8T gt 7 eI a9t 3T ATEt I, Udg I MiAuaT @& Urait @0 meT J13T aret I
A9d WHT et fas-u3at & faest un 12 I ¥ €t faredt Fwe T 3T fem &
s M3t afde I

319 AYfad yg= »fuamg #w €9 Is fagt € uear § fugd fan &t s € 57 yuz 3¢
s € MeT T8 At feg YUt v aet mfuara sdt gl

feg ad® gmmar AETfuz fe'a gevget femast € gu feg e 1

fev feq fem e uge =&t adat fearet J1

feg it U+t & €9 fowr J fAn &7 39S quat e Hiar 3 &1t Atet J1

A e fagst 3 39T € ga3Ts &et femm wifgarg yuz a4t g€ w3 &7 If fAgst
3 Just € W3 €3 (7t € gar3s oo aet ufow fest At 31

forae W3 =7 fAedy I

wgaT € garfenT aHt T fes fe g ‘i Ut fHedy Jat mimads a3 Afer J1
wgsT & gafent gt § fe e € geurdt U 3 AHSt UHt A e (At fe T wer
fanm ateT 31

Ut foma= yr3T|

fome= Uviers &9 fe9 marfuzg aitar famir fomee Uwt fomee J1

1. fem quat feg »m € 3978 3 39 &4t I |

2. We 3 we Hget €t farest A3 gt 91

TES I AETUZ ifrar g8t fenadt fan & fesue ufvere, fadzg de w3
ATST Hag J< I

W3t At

8T g 7 YAUden Adt d9a € 120 fest € wieg qust § st 39 3 YUz dt
gratet T

Int. on callsin Advance A/C

ToBank A/C

P/L A/C
To Int. on callsin Adcance A/C

Fuat fafaen 2013 € gat 3, 9797 1 € WIS
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29.

30.

31.
32.

33.
34.
35.

36.

37.

38.

39.

40.

41.
42.

43.
44.
45.
46.

47.

48.
49.

Sharefor feiture A/C
To capital Reserve A/C

WH HE3 4T3 € 997 § 793 I WHT § 99T Al J9s 3 IE I § AT d98
3 gfe U+ fomae yr3 o9 onz3fezs ag fesr ater J1

fas-u3ad €t yedr we-w'e I #HT & Wfag aH3 87 5% Jet J1

fs€s3n 9 3 o= feu I fa quat & der U+ fen &t adt Ut € 9w 3 we adt
It gt 91

yStgItut @i ura

JUST T FETUST AN J13 IIE yafonit § Hes Yae afde Ia|

Hag wmt & fg& u'3et & farest um a3 o wmt €t farest 3 < 9=, 3 few & wiSt
3t fagr AteT T

AT AH3T A fATS quat evmaT ATT&dr A7 JoHaTdt § 8¢ 3 Adt J13 A I& |
(grar 53)

Hfe3 ya= wifuara #m |

WH § TE3 J9& AN, WE U U3 § UTE3 99 78 3f9e 13T AteT I

IEE TATIT AETUI wfAaT 2013 €1 UT9T 2 (20) WEATT, “quat I = fen mfufso
35 A fan fugst Just Ida € W399z AETfuZ F1St et quat J1

(i) wfrgT #w fAmr € oo § BgH € IS

(i) Uwt & TUR AUt mHeT-rmTeaT ©f 38T few ufow yuSt 3 91

wfAd &9H fAust 3 79 o gafenT fegd o Jer J1

feg ooz (+t & €U for 7 duat € fare €3 #w ugat gngr T 3<de 9

a3 od fe 3T Arer I

12% ASTET

faH qUET THTaT MTUE W ye 1 ydle ST wiET 9 Yad ydte Jet I

8n & yStgItot yifie w3 feg Jfse a3 Ar=ar|

R8s 3T ya= wifuarg #w 89 J© U6, fAust 3 Afeg €9 3 yg= wfugg s 9w €
3B-5T%, AHIT WHTEdT & §Uat € WE € 39 fHee 3 giE ¥9 B9 © g9
feg <t gafteg =0 SIH YU3 J¢ I |

(i) fem quat feg »m € IA3T3ds 3 I J<t J1

(i) WEaT €t fare3t 200 3T Mz J<t T

wifafgz U+t e €9 fomr J faosT st € gu fee yust &€t At a1z Ater J1
w3 &7 J137 aret #Hm At ' 69 four fAn & Juat € 9€ d9s € AN 3 feseT 39
fam = m 93 &4t 3T AT AAET
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50. JUAT THTIT WHT § BUsT € Mia3 e €3 A9l J9aT “Gan He €3 wm w feaam”
Jer gl
51. Unalt wraaTet § fos € “Or® Sedmt” Jat antfenT AteT J|
52. Share capital alc Dr.
Secuoities premium av - Dr.
Tocallsin Arrear alc
To Shareforfriture alc

53. 12% ASTST

yTBt gret gq -
1.8
2. Aefara
3. gt
4. AH3T WA
5. geamt
6. nH UHt
7. Ua< wfuarg #m
8. fenma3tars
9. famge M3 T
10.3fse
11. foma= U+

31T IS

1. wAdt

2. Hdt

3. JB3

4. AJY

5. AdT

6. HdT

7. B3

8. IBI

9. HdT

10. Aqt

11. AJt

12. AJt

13. B3
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14.
15.

IBI
AT

gu-feasut yus :

O 00 N O U AW

[N N T T T T R T S )
® VW 00 N O » A W N - @

(b) qUaT © ST

(b) T3 A3 #

(a) &

(@ 2.503:

(a) wafara W

(b) T Ust € mfoaar It A JUST Aet a9 AFEt J
(@) ST yr3T

() YStgIram iifimny wrar

(b) 10%

. (8) W & YUt w3 quat € §€ I A U+t & TTurt e ufgsT o7 geT J
. (b) »mt € sHTdta 3 &7 5%

.(a) 10%

. (a) 9 € ==t uH|

. (@) 12%

. (8) Y9s Y= 3 §BH M AT d96 Bl

. (a) fos @ e=edt Uy 3|

. (@) #t foma=

. (a) et yr3T

. (b) g3 W € I 7% 3fge 3T AET I
. (a) dUST T HES yafam € yr3aH St

IIT-UIJ A4l dd&T M3 ddd UIdT ©f S TUAT

g3 8¢ €39 T8 yHs (2 Wat 78 yHS)

95 o4 aus Adt 96 Af IB3

1. odd U3d A qUST € B g 5| (BT /IHI)

2. Jdd U39 UGt qUaT € HEd &4t 21 ( BF/IHI)

3. J9H U39 Juast § fesT g9qT 75| ( BIF/IBI)

4. AT U3 I3t 3 ATt &d1 T AAC | ( BA/IBI)

5. JIHAT U3IT W™ 39 I MHI 3 JIAT HE ATE 35| ( 31/TBI)
6. TIAT U3 A3t € Y137 IIAT AUST T ( BIF/IBI)

7. fea quat »uS 99T U39 TUH &4t yale Faetl  ( 31d/IB3)
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8. feq quat fiige a9A™ U39 A9l J9d I'9¥'T HY JJ AFE! J | ( BF/IBI)
9. J9HT U'3d At d96 I I&T YATIIS It I 1 ( S1H/IBI)
10. IIAT Y33T & foud €€ JI3s GaT I A dUST a& B JT J | ( 3ia/IB3I)

Jot fou yrast € gese €739 €t ST ad|
11. Ia0 Y39t & TUAt 3 Uhitend yfaest 91
(€) favt yrar () TASfEI UTIT (M) ST-HFT U™ (A) HHISH 43T
12. JIAT U39 € TUAT € Yhit & Aefe Ater J-
(€) ISt (M) ¥=edt () ¥aaT (}) MHEs
13. IIAT U39 U ANY A I& -

&) Just e Bsed () JUST T 9T

(8) JUST & HTBT () JUaT & YU
14. IIAT Y39 74T d9& 3 T&T -

(€) S=emt () AUt

(¥) Yaar (7)) 89

15. 7 40,000 J: €7 JIIAT U3d 5,25,000 J: € AU AUt 9€8 A I I& 3T gt
125000 3: & AHfgT F=ar|
(©) yfswar ) Udtfomee (¥) &9 (A) T&1

8¢ YHS (3 Wdt T8 YHS)

16. I90 U'3T &t J€ I&?

17. U8t GaT g9 U39 ot I?

18. UGS JdAT U'3J T &t mdg J?

19. TUHIGTT F9AT U'3T ©F &t MIg J|

20. T IIAT U3 o1 J?

21. 99 SESIHdT I9d U'3d o1 J€ I5|

22. Yg& €8B! WdT I97 U39 at I€ 75|

23. F9d U'3at & TRt T &t mag I7

24. g9d U39t & TUAT &t fedtt €@ s @R

25. g99 U'3dt < Trurt e <t 97

26. D.R.Rat ger J?

27. I3 €3 g9w Ugg At q9s T T = I?

28. Uhit €°3 o U39 A9t d9s I df FTE I?

29. B9 {9 qaa U'3T TURt It I= I?

30. TUJ &< TId U39 ot g¢ I& | (Deep discunt debenature)
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31. gUs €9 &T et 97

32. € J9d U3d I € dd& BET ydle A'e 96 3T fquz fewad a3 A€ 751

33. g9 U39 € YA et ff3 € A3t @ 3 fzu?

34. HU™d JW € €A &H fBy|

35. femm gfaz vz &t J€1 T1

4 Wt TS YAS

36. X Ltd issued 50,000, 9 debenture of Rs 1000 each on april 1, 2018 rad eamable after 10

years. aceording items of prospectes Rs 400 payable on application and balance of
allotment of debature. Record necessery entries regarding issue of debenture.

37. AeC § ne &= 3% 500, 9% fa= U39 Rs1ee I&| feast e feigs 1 »Om3
2018 § F13™ farur &t fadat gt & ferae et gerforr Aer gdter 71 fenge &t
feeaw U F3 1
&< : - (D.RR-Debention Redemplian Reserce fag U39 feng< famd=)

38. UTI & 1000, 9% faE U39 Rs 100 33d € fone 7% »is 1, 2018 & AdT d13 I
fegst e fenge MUz, 2014 § 13 fapn| fegst faT U'3at & fadt 39 3 Ifpnr
farrm| farat gan &t &3 fae U39 © ferge 3 ufgst fas u'3at © feiae set u=at
fge U39t § AT T9s M3 ferige € SEt JE AG9® fewaH faaas J9 |

39. M M3 foT U39 feT9 W39 fau?

49. IIH U3T T &t MIG J| 97 U3TT Tt fermgT=t @ @96 9|

BA/ABI
IHI
CICS

1 3

d 4

O 00 N O AW

:!

. IBI
11. (&) fartyzr 12, () E=edt, 13. (8) Juat € B=e9 14. () AUST 15. (o) U=
ICECED
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fe3t fesae o fem@ne (YAs-U39)
2 Wt TE YHS

1. f<5t femdne ot Jer 37

2. & fengne ot aet fea vy anft ehe

3. ggdl femsne at ger 97

4. regat femdne ot der 37

5. M3 femsne at ger 37

6. BHgut femdne af ger 7

7. &3t fe=ae fe'9 351 Tue =Wt € Tgdt fuat € &7 @7
8. ™f garet fezae &t wan@er I7

9. {3t femsne € fan € Genf € =95 A4 |

10. 38 A T femdne af ger J7

11. §3 A0 et femdne ot ger 37

3 A IBI

12. g fan fenfez gt & AUSt M3 Scerdnt e fesas Jer 31
13. &3t femsne feo femdne w3 fenforr €2 mHs Je 987

14
15
16
17
18
19
20

21
22
23
24
25

. &3t fesae fe9 ves fesde w3 Afgst fesde €< 4 I€ I51

. &3 fe=ae fammg JaaT ot »=ay €en &dt Jer J1

. f& 3t fe=ae fage wiafod fauge I< 51

. f&'3t femge yuTGar &t € mrag 3 fanrg &3 #7ie 951

. dt fe=w aa3T fe 3t fezae feg g<t Tue o1

. f&'3t fezge femd@ne a3 Uae fe9 I =8 ufdeaaat & awg Med &dt gaeT J|

4 Mt TH YAS
. f&5t fesae 3 ot 9= I7 femdne vt 979 famit fg?
. fe'3t fe=as &t U A=t fotr?
. fe'3t fe=ae © fengne © Gon fgu?
. fem@ne 3 ot g7= I7 femdne <t feut fou?
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O 00 N O

11.

12.
13.
14.
15.
16.
17.
18.
19.
20.

Answer Keys
fe 3t fesaes o fersas

. & fem@ne €v ufafonr T # wifan 88 St Wer W3 s9-g7at w3 fegae sia

Y¥U AU J9d, 9 € Tge et fe 3t Ira3T w3 aHmdhit € u3T BargEt J1
fe 3t fe=ae g™ 3 fefaoma T&|

. ggdt femdne €t gvmar At At 9 fagt & ugw qust € fenmua faames 3o aqt

gt

. Wegat femdne 8t femadt enmaT J13T AteT J fAgt & uge AHET € MAeEgsT BT

gIHT 3T bt T

. H99 get st € fe 3t fesae o femdne 13t A< 3t fen & m3® fendne faor

H<T J|

fAg f&3t fesge v fendne fea s B8t i3 At J1

(i) fo=maasT (i) Yo

qTdug € g9 AEardt feer I w3 Jroud € AfgSt €HeT I
(i) 37T g &t AfgSt § ArseT (i) adgg € 3537

. &9 A &t &3 AfgesT, goar 8 & T 3983T M3 ¥'F aHPE € AT §

7SS et g AT I
g3 AN € g0 F'E<T & AT T, AfE3T, 39837 M3 B'Y INGT € AT ET ATaS
Bl 13T 7T I

233335333

fe 3t fesas o femdus e Iaastat
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2 Wt TB YAS

O 00 N O U AW

= = s =
A W N - @

fe3t femgne It g= 3?7

3B fe St fezas 3 ot = I7?

AUGS Md'd @8 fegas 3 ot = I?

yfeast femdne 3 ot g7= J7

MeUT3d femdne 3 ot g2 I?

BT M3 TE &7 IBEIN fegde I ot = J?
fegsa 3ot = J?

f&3t fezae feg T9t Tus ==t © uadt = & foy?
f& 3t fezoe femdne &t € 3aaia fau?

. yT femsne 3 &t = 37

. y=g femsne <t fea et fed?

. W™ Mg WM feaT &t femmfnT ga7

YT U3 3ot = J?

. G T HEgst T &t e I?

SA/IBI

15

16.
17.
18.
19.
20.
21.

22.
23.
24.

. f&'St fesge &7 #egat fauae J1

a1 &3t fesas g™ 3 fefaama T

f&3t fezas feg a3t T seser feyfenT Aier J1

SIH & Megat 3BT w3 YfeaSt femdne mis &t J€ 751

g% ¥ fT9 I T8 TU AET 7t T09 FITed3T § EIHgEr I
3B&ING feege Bgardt feeae @ gu §< I

AU WTad MHEs feede feg 99 Het & a8 Het © A3 © YIH3s =4 anrfenT
7er g

f&3t fezae femdne 3 &t e 37 3t femdne St fedtt faa?
IBaIN fe 3t fesaes 3 ot 9= I7 &3t fesaes © G fau?

BT M3 TB T IBEINT fezae fog w3 Gon foar?

4 Wt T YHS

25.
26.
27.
28.
29.

Format of a compartive statement of profit and loss?

M Mg 8T fesde I dt I J? W™ w78 wifar fas & €en feu?
AUdE Mad © fe<Sdst © 79 M3 HHIST {347

TIH T HEIST M3 MIT-CoH IB&T §7d S HY
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30. IBEINF M3 foaT 3 &t 9= I7 IBsIHT #i3n fes & a8 & feut fau?

31. From the following information prepare comparative Balance sheet of Niti Ltd.

33.

34.

Particulars March 31, 2010 March 31, 2011
Equity share capital 12,00,000 15,00,000
Recerve and surplus 20,0.000 1.50.000
Investment 4,00,000 5,00.000
Current Assets 6,00,000 5,00,000
Long Term Loans 2,00,000 200.000
Fixed Assets 10,00,000 1200,000
From the following information prepare comparative income statment.
Particulars 31-3-2015 31-3-2016
Revenue from operations 400,000 600,000
Cost of Material Consumed | 2,00,000 3,00,000
Depreciation on Assets | 1,00,000 1,20,000
pravissions for tax 60,000 80,000

Prepare comparative income statmen from the following information :
Particulars 31-3-2015 31-3-2016
Revenue from operations 6,00,000 7,50,000
Purchase of stock in trade 4,00,000 6,00,000
Finace Cost 60,000 1,00,000
Other Income 25,000 35,000
Income tax 50,000 60,000

35. From the following information, Prepare a comparative income statment.

Particulars 31-3-2015 31-3-2016
Revenue from operations 1,00,000 1,20,000
Purchase of stock in trade 75,000 85,000
Cost of material consumed | 2,000 2,500
Employes Benefit Experses | 3,000 4,000
Depreciation 1,000 1,000
Other Income 500 500
Income Tax 10,000 12,000
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36. From the following information, Prepare a comparative income statment.

37.

Particulars 31-3-2015 31-3-2016

Revenue from operations 15% of cost of Material | 200% of cost of material
consumed consumed

Cost of Material consumed | 12,00,000 10,00,000

Employes Benefit Experses

20% of Gross profit

20% of Gross profit

Income Tax

50% of Net profit

50% of net profit

Prepare Comman Size Balance Sheet of Nirmal Ltd.

Particulars 31-3-2015 31-3-2016
Equity share capital 8,00,000 6,00,000
Securities premium reserve | 2,00,000 100,000
Long-term Borrowings 2,00,000 3,00,000
Land and Building 8,00,000 1,000
Other Income 500 7,50,000
Current Assets 400,000 250,000

38. Prepare Common Size Statement of profit and loss of komal company.

Particulars 31-3-2016 31-3-2015

Revenue from operations 80,00,00 8,40,000

Other Income 6,000 5,040

Depreciation 48,000 53,760

Finace Cost 32000 30,240

Income Tax 40% 40%
Answer Key
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1. &3t ferm@ne Byae T Hes™ GOH HU3TYds fsae B Bt Fea= YE's J4aT J|

2. A< fed yag € #az fued fea rg 7 fugsd aet st & wafant 578 m3s ©
wWrarg U HaTEST J13T ATeT I

3. BY 3%sand fesge # &3t #ias & 383 €91 &% yImas A #»isu3 gy feg
gaAger J1

4. few fSt femgne &t Iasta wuls Y- Her & Y-y AN et Mgyt &
IS5 I3t ATl T I 3¢ IBET 13T AL

5. wigur3 femdne wfan fe's w3 Fg-uat U3 & fema31ar3 Het A Ayfod Her €
fegarg nag-gaye A¥TT v fea™ d95 et feu Ho3=yds Jfam J1

6. wes feege feq araug €t Yfafenr & g &9 A §U I8! § gange J1 feq
IBEIHT HEs fesde MHEs 3 was © I & wiafat feg o Af ot &
gorger g1

7. fen feT ¢5/8% < &1 13 A'E T8 HI9 T&1 § AIHS 13T AeT I

8. (i) USUd (ii) §99 & (jii) I&d

9. (i) 3B&3IHT fe 3t fenane|
(i) AU9E »ag T8 fe<a|

10. f& 3t fezaet v fendne B3e9 Fea'=' € =9 & IISs" J9d ferdHe J AgeT J|
feg feut feur fagurda a9et T - Gug =% A Jo7 =% JI fev feut fezgs feT fest
femaStars He & g i &t e &8 ySias i &t aiesT g9t J1

11. fAg fead yaa & 3uae ufght Bar3d st MusTet At 3T y=v fenmsne 3%aT
393 3 IB3 nigeT ¥ T fendHe g AT JI

12. fem reeie fE9 AUt w3 Scurdit € T% AZ & M a1 397 100 T fam aier J
3 Ad WEs A3 © Y3 € gV fe9 fonas a3 7T 5|

13. YS9 MU3 SY-TY HET T §Od #Wd JeT J1 fen Bt aet wiedint € &3 fesaet

14. A< feq gan € € A 3 forer Aet € 3 fesast o a3t A Ie-wdg de<
3B&T AT ATEt I 3T e § on & Megat 3BT T TS|

BT /IBI

15. Adt

16. AdT

17. I3

18. IIBI

19. I3
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20.
21.

O 00 N O AW

e e
N - @

13.
14.
. ‘TIH © fo& AEY feur fagew’ g9t Aiserdt wfufase, 1932 € W33 feaurfas

15

At
At

Juat e f& 3t fe=as (fage faoT)

. feSt fesae At ger I?

Hed 3t fesaet © & fay?

MYsYI Seet 3 ot FIE 7

fomae w3 =77 Hady »dls »rEe =8t vet & &7 fay |

HE® Yd9 Y3 €T BUIS fe=ad at Jar J7?

‘TG AUI? sy Jat irivs diStht Are T8t 979 Het &F gat 5781
‘TG eeudmt fAgdy It IriHs Figtt Are T8t 979 Het & gt 578
319 I8 AUStHT fAed Y Jo7 IriHs d1St ATE T BT 979 He' &1 §at 9278 |
J€t 99 I8 AUStT St € Beraast el

i Uit § o fresy ot wanfenT Aer 97
. JUat @ o feg ‘Sowast 8ud’ frady wuls Mm@ = &b Het 979 €R |
.Ut € fae fee myas vt € »idts yAgs St Are @t Het &t Aet

s
Uiar3 famae § S<ewdt Uy € faus fMedy Jat garfenT e 37
fe's € gut € 5t &n|

13 9T 95 | Aefd quat @ fos gt ferr fager—m3aars fagurfag 13 are o1

S AT B3 TES

O 00 N O L AW DN

MEHE3 BYH § 95 € AUSt T8 UTH &dt ggATfenT AteT J1

HE8 4dd 9% €euTdl g€ I& |

IIH-U3T 7 9 At g96 I fe St et g fomaw o weret At 71

Y feq g3 Aust a4t €1 91

fier Fea fea 973 Aust Jer g1

I35 Gl f§® 978 AUt fAgdy It M8e I

fg's & §at 11l wigwAg f3nrmg 3 Afer J1

Mo&Y3! uTdt €t I ‘TE Seudt M3 feemer fee myt At ATEt 97
FIA-U3at & o3 f9 978 AUt = ganrfenT Afer J1
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10. Juat € f9'8 § fige Sardt Agy feg fammg &1 A7 AgeT J1

11. 9593t ecedt U9 feust € gu fes wanrehnt Adht 951

12. 4§ Suads 978 AuIt € fAesy 9t m8e I

13. 3'IH § IIAT-U 3T € JU fe9 F g3 13T A AgeT J|

14. 393t quatt mfufee feSt feeae € Fgu § fsaurfes gger J1

15. {3 f&9 Ay, 238 Had wrfe § mgasdar AUt I&T eanTfenT AteT J1

3"r"|3('i'€"'8'1[5|?§:

feTt fesge It = J?

Provision M3 fama= (Reserve) feg W3a fay|

Feg S8t ¥=edt 3 &t gT= I7

Fuat T fosT M3 S © fo e feg #3a fad|

f& 3t fe=ae = ggmd 979 fay|

B AUItt St 3 Geragat fel

fama= w3 =7 (Surplus) it {35 Bergast el

Jot fadtt Items & quat wifufsen 2013 Schedule 111 € #»igAT fan frgdy Jat
TIATTEAHT HT=AT |

() Goodwill (b) Stores & sparues (c) Provision for tax

0 N O L A WN

4 Mt TB YHS -

1. f&St fesas it vy femmar=t <t 999T a9 |
2. feq wmmagn f&3t fesde @ at e ¢ 957
3. fe3t fesge T Ho 3= 3 999 9|
4. &3 fezas & g9 A=t fod)
5. qUBT mMde 2013 MEHE! ||| € MaAe fgd € sHS T Ygy Um aqd |
6. fefds famit € fe 3t fesae g9 oy
7. Thefollowing figures were extracted from the trial Balance of Y Ltd.
Particulars Rs
Share capital 2,00,000
Securties premium Reserve 20,000
12% Debenture 70,000
Fixed Deposit (cr) 15,000
Creditars 8,000

Y ou are required to draw up the liabilites side of the Balance Sheet.
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8. The following items appeared in the trial balance of ABC Ltd. Prepare a balance from
the items accurding to the provisions of the companies Act 2013 Schedule 1.
Dr.Rs Cr.Rs
Share Capital - 60000
Good equit shares @ 210 each fully
Paid up -
Live Stock 30000 -
Mortgage - 20000
Trade Receivable 50000 -
Answer Key
quat e fe3t fe=ae (frge fa'am)
1. Mfrgr fesae 7 quat & f&3 Afast & yare ager 31
2. (1) FFUITAUI (2) foar
3. wfadhrt Ssedtnt 7 =93s feg 3T Hge a4t 75, udg sfey fev fan femm
yAfgSt a9 e I AaEit 95|
4. Ut fomge, yStg3tut yhit fomge 3T, 879 w3 I7&t ur3T, Ut dm yTaT
fen & ySigIt yhitnnt fie'e wer fez mier 1
5. g feo 3oz, &9 <9 3a3, fefsgs e<u9, yusivar fas|
7. FASIEE fOF, v BET, FIAS'S Wl Y9, UHTN =1 YTUI MHES |
8. BY AU, migg AU, Ut T99-fes-Yaian, 575 ade fa=m|
9. 9t usTe M3 HHtsdl, EI5T9d
10. FJd 9%39 &5 (Share holder Fund)
11. 1. FIAUIT (2) 9 3 BT T ToW TR JId 3 YAt
12. (1) gt grete (Copy right) (2) 293 Had Trade mark)
13. Reserve & Surplus
14. (1) AM3& AV (2) B9dT9T AgY
15. JUat Miafae, 2013
BT AT IBI TS
1. wdr
2. IBI
3. wdt
4. IBI
5. IHBI
6. dIBI
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aggaaagga

15.

O 00 N O L A WN P

[\ R SR S R T e i e O T
N 2 @ VvV 00 N O LW NN P e

& MU T AT & &t 37

fefgs yarg & nigurst € & fgy?

398 WU I Jt F= J?

398 MBU'3 ¥ faus UTg & A3udsd HenT Aier 37
TZ MEUT3 ¥ faus Uue § Adursd Hfenr Ater 37
MTEdH JIHT AHIT MaU™I faaT Jer 37

Yd&s 398 MeU3 € faud UTe § Audsa Hiemm arer 37

. FIAHS (AT & aresT fa= it At 97

. fsquy I9& migurz & Jer J?

. W et € §37 @ 33 faus ¢ 957

. JEt € faT gar@= € GasT € migu3 € & feu?
. fo= mizT nigu3 &t gt fa= st At 97

. IIH AH3T WMGH™T ANIT &7 &t %9 37

. fafermit®aT migurat € &F €/

. AT WTEd3 MguUT3 € diesT fas aist At 97

. 93Ed MT=d3 MEUTI ot JaT J7?

. meTfealt §ar Mred3s maut3 & gt fae a1t et 97
. Afgg AUt niregs wigur3 & aiesT fae aitst Afet 97

. miAfEg AUt mirea3s wigur3 & giesT fa= aitat Afet 97
. FIAHS U mrea3 wigu3 & aiesT fa= it Aiet 97
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23.
24.
25.
26.

BTIETEIIT WGUTIT &t dieaT fae i3t Atat J7?

I & B MU &t gieaT fa= it At 37

HU 89 Mgu'g € JiesT fae gt At 37
ufeess/fammits Miaurs € aresT fa= i3t At 37

27. fa=w §ug vinies wigut3 € giesT fae” gt At 37

28. fami® B9 wiguT3 &t aiesT fa= a1t Atet 97

29. H& (FMHI) aHmel nigu™3 3 &t I7= J7

30. U3t im g migus 3 ot g2 7

3l AT IBI TES

1. MeU3 § WA W& feT fenmazs a1z A7 Ager 37

2. 238 629 MguT3 ™ 39 3 AN’ © Aedd fe g femaa A3 ATe 787
3. FaAHs Urt 9% AUt €t 9% eeedit 578 mfugaT get 97
4. =TUJ 295 BT WaU™3 AT € RS YUl § SR8 E I6|

5. y@ar st3t 7 g9t Uet €t aIesT a6 e gSvEE Austyt & aresT st At 31
6. WMEUT3 fendre € ToH' € IB&T A9 fET HewE Jaet J|

7. SEEIEds YISt & Yas 39% AUt fifemr AteT I

8. dI9 @ud fa=w § ywiar o3t A =&t Ue e oy aisr Afer 97
9. 3IIF HUSTHT M3 T% Sceat feg Megm Mgu3 1: 1 Je J|

10.

Yt | aHTEt Yt HE YTUS 98 B U &' € WY g9t J1

M ultiple Choice Question

1.

29 I H'S & 7313 (Cost of goods sold)
a) Sales-Gross profit b) Sales- Net profit

) Sale proceeds d) None of the these
Ut € JTIHHIS UHT
a) Total of currents assets b) Total of current liabelities

c) Current Assets-current Liabilities  d) None of these
TZ AUt & a3 faas a feg yruz 9 Afet 97

Qe S b) fea HataT

c) fea rr® d) f3s s

fa= 3T migurs =TT <t WY gdeT J1
a) profitability b) Activity

¢) Long term financial position
d) Long term financial Position
398 MBUTS § ArfenT 7T I1 (Known as)
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a) Acid test Ratio b) Quick asset Ratio
¢) Both the above d) None of these

Short Answer Type Questions (3 Marks)

neU3 fersnae 3 AT ot Aavse 37

g7 feyrer AF f&3 39frar ot gt 37

T8 MEUTS W3 398 Wigu'3 fe g w39 &y

AU 879 MguT3 of ggnrger J7?

IHAT AT MeUTI © fas 3T T57

g MTEd3 MEU'3 © 33 fBh|

neu3 fen@ne feg aivs aed faa|

89 G=959ec § I5 eeudl feu s fag* stz e 97
ufgess Mgura 33 fay|

. Afgg AUt € ydte € feg U i At Jas & 1: 1 € Jar-AH3T Mgu3 3 &'
T qI6T T IS AT |

4"r"|3('i'€"'8'1[5|?§:

1. »au3s femsne € det 99 379 {5y

2. U3 fen@ne &t 979 Hiu=t e x|

3. MBU3 fedne J96 AH fonrs Jue war 33 |

4. nigyu3 fensne © Gon foy?
5
6

O 00 N O L A WN

=
o

Meur3 femdne e fedt =gaiade ot J7?
Calculated current Ratio

Cash in hand 8000
Stock 9000
Sundary Debtor 11000
Creditor 14000
7. Calculated Stock turnover Ratio
Opening Stock 5000 Cost of goods sold 30000
Closing Stock 10000
8. Calculated Gross profit Ratio
Sales 1,00,000
Gross profit 20,000
9. Calculated debtor turnover Ratio, and average collection period.
Net credit sales 7,00,000
Debtor Dec. 31 80000

Days to be laken for ayear 365
10. Calculated Debt Equity Ratio
Equity share capital 8,00,000

61



4,00,000

Loan fernm SBI 30,00,000

debentures 20,000

Securtites Premium Reserv 160,000

Preference Shav capital 10,0000
3Marks:

Q11. Calculate curent Ratio

Current Assets 2,00,000 Current Liabilities 10,0,000
Q12. Calculate Quick Ratio

Current Assets 4,00,00 Stocl 5000 current Liabilities 20000
Q13. Calculate Average Stock

Opening Stock 10000, Closing stock 20000
Q14. Calculats creditor turnovers Ratio

Net credit Purchase 50000

Average creditor 10000
Q15. Calculats Purchase

Opening Stock 10000, Closing Stock 5000

Direct expenses 2000 Cost of goods sold, 50000

Answer Key
neu3 fersns
1. fefgs mizgust &t AofesT o5 fe 3t fesae © femd@ne § »igus fem@ne faor Afer
I
2. TT% MBUTI, I8 igU3 3 fasaly 398 U3 |
3. IIAHIS A HauT3|
IIBIT MIUI, JIH FAIEUAST MEUTI, JIGAHIE, MIUI M3 FIErfedar
MEUTI |

I

MBUTS fE T SIH & IIH FAS'GHIT AHT 8T €7 HTY Fd& BT YWl IS BT Hau3|
1:1
2:1
2:1

O 00 NN O W

0.5:1

10. I8 AUt - 978 deardtut

11. fagUy 398 AUIHT w3 78 SSeat & wguts

12. AH3T % Ut + ya= wifuare #m Udt + foree w3 77 - g8 rusht 3 oratut
13. (1) fo= M3 MEU™3 (2) HBAHI MEU™3

Long term Debt

14. Debt Equity Ratio =
Share holder's Fund
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15. HHAUAT € SF |
16. AST MT=d3 MEUTS, BT MT=II MEUTI, METEdit TaT MT=d3 MaU™s, ITIAHS
U, MT=d3 mgur3, Afgg AUt M=a3 mgut3, winfag AUt m<eas wguT3|
Cost od goodssold
Average Stock

18. feg faw g enra™ Jad &F =FST €1 ISt & TargeEr J1
Net credet Purchases
Average Tradscredetors

Net Sales
Net Fixed Assets
Net Sales
Net Current Assets
Net Sales
Working capital

23. WMET &'F MFUTS, BT B9 MaU3, fanmils migur3, faem §ua nmes misu3, y3t

WH BT MH MEUTS, IHTE M U3 |
24. Gross profit Ratio = Gross Profit X100

Net Sales
Net Profit
es

Operating Cost N

Net Sales
27. Return on Investment Ratio = Net Profit before interest

_ $Tax (EBIT)
- Capital employed

Operating Profit

Net Sales
29. feg MauUT3 Wi HI & IBET fe g »im & I &7 Y JdeT J|

30. feg »auTs AT #iF Taat fe9 ySt i 3 Ae T8 BFTH § HUET J1

17. Stock turnover Ratio =

19. Credetor turn over Ratio =

20. Current Asset turnover Ratio =

21. Current Asset turnover Ratio =

22. Working capital turnover Ratio =

25. Net Profit Ratio =

26. Operating Ratio = 100

x100Ans-2

28. Operating Profit Ratio = X100

(Answer Key)
3T A B3

133134
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C.Q (Answer Key)
(@ 2.(c)3.(c) 4. (d) 5. (a)

a3 Y= fe<ae
WAt TH YHS)
a3 y= feae &t ger 97
o= y=v fesae It fefgs arsifednt e =gae 99|
393 ATaTIEd ot JeT J7?
HU 398 Y= at ger J?
JI9 39= yafamt &t € Gergaet fel
&3t artfettnt 3 miegat 3a= Y=o &t € Het 1
319 392 B @< of J¢ I&?
393 y=9 fe=ae § fanmg a9s &et 83w fesge € 51 7|
. fo=wm arstfedint 3 viegst 393 Y=o it Jet € Hef eR|
. JgASTST JrStfettnt € M39II3 I9F € WEds! Y=TI HETt &€ Het €|
. ufggss aStfednt 3 a3 y=v fagurfas o et fumee 5% ot fesga 3T
Ater 97
Ufgorss Frdtfedtdt ot Jebdt I57?
foew ardifedtnt 3 &t 7= 97
. f& 3t arstfedint 3 &t 3= 37

S AT B3 TES

1
2
3
4.
5
6

393 y='v fesde & AU 98 AS-3 wgH™g famma 3T Afer 31

Afed AUt @ U feg ot I 5% a3 < ATeT J|

a3 Y= fesae Byids € Yust mmarg §ug murfas ger J1

f&3t € ermar faen & feadt faem arstfedtnt 3 9= Y=o &t Gevds J1
FI3™S A3T fapuT FTITH 3T €T HII &It JeT I

FTIH T gaAr3TS fe 3t arStfeutyt 3 39z Y=g & 8vrads I
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7.

urg 3 Azt & feadt 393 €7 A3 &t et J

Multiple Choice Questions

1.

Ufgu®s 3 3oz feg fan a9 =ur g=arr?

(a) I8 deuramdt f[dg =mur (b) I8 HuIet fET it
(c) &=t f<'T §&t &t (d) M3 T2
. 393 Y=Y feede fan suias mrurg 3 mufaz gt 97
(a) BuTFs € Tdt y=rat (b) Bytas € yu3t Mg
(c) Y& €T IAI MU (d) feast fe9 aet =t &t
. &JE € WEgst YITY Iot @i i fan aras 9=are?
(@ mils e s fegesar (b) 7wt § A II& 3
(c) it feg anit (d) ga € nmerfeait
. 3978 Y=Y fezde & 73 fan ya9 € & fstns et g<t 97
(a) Hua 1w fe 3t fatas (b) MBUTTBIE fe 3t fauns
(c) Sowasts fe3t fatnas (d) W3t-Towasts fe3t fatrs

393 Y=Y I FI9nfgI d3T AeT Irdter 97
(a) fa=m ardtfedtnt (b) ufguT®s FrStfegtut
(c) f&3t arstfedtnt (d) fegst feg It <t &t

Short Answer Type Question (3 Marks)

b)

c)
d)

N O AW

o=z y=7 fegae w3 §a= gae feg at wiza 37
39 3= yafemT &t g3 Geragst feg

393 Y=Y fesde w3 &3 y=v fesae R St Mzg 97
Fufas yrughnt 3 ot g7 97

dig =urfed yrugtot 3 ot g7 97

a3 AaIEd ot I7

35 fefumt fe9 aratfedtt @ Tg9aiads ad|

1) yfggss rdtfedmt

2) fa=w arstfedtut

3) f&' 3t arsifedtut

Furniture Purchased

Plant Purchased

Income Tax Paid

Discount alowed to Debtor
Dividend receved On incestment
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f) Shareissued for cash

8. I& f&fumt f&9" Inflow/ Outflow/ No effect € Fgafidds &a |
a) Cash deposited in to bank

b) Dividend declared by company

c) Dividend Received by Finance Company

d) Ineterest onlong term debt paid

e) Payment of cash to credetor

f) Receint of form Loans and advances

g) Refund of Tax

4 Marks
1. 393 Y= fesas af 97
2. 393 Yy fezae € Gem dt g&7?
3. 393 Y= fe=de € 579 fau?
4. IFF YT fe=ge St et fay?
5. a3 Y=Y f&9 gonadt gStfeutt feg ot arivs digr Arer 97
6. Iz Y= v fasnardt ardtfedtt fee ot arfvs JigT Ater 37
7. a3 Y= 9 &3 arstfeutt feg ot wrins a3 Afer 97
8. Ja3 Y= fe=ae & fa=s gerfen Ater 97
9. Form the following information calcul ate cash flow from operating activities.
Cash sales 2,00,000
Cash receved from debtor 50000
Commission Receved 25,000
Cash Purchase 19000
office expenses paid 10000
Income Tax Paid 8000
10. Calculate cash from operating activities
31-03-15 31-03-16
Profit & Loss A/C 11,0,000 1,20,000
Debtors 50000 62000
Outstanding Rent 24000 42,000
GoodWwill 80000 76000
Prepaid Insurance 8000 4000
Creditars 26000 36000
11. Calculate net cash flow from financing activities.
31-03-16 31-03-17
Equrty Share capital 9,00,000 10,00,000
Security Premium 250,000 260,000
12% Debenture 150,000 1,00,000

Additinal Intormation : Interest paid on Debenture Rs. 18000)
12. Calculate cash from incesting activities Sold.
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1e0.

11.
12.

13.

14.

15.

Pur chase Sold

Plant 2,50,000 150000
Incestment 300000 400000
Good will 100,000 -

Interest received on debenture held as Investment ¥10000. Diidend received on share
held as investment 8000.

Answer Key
da3 Y= fesae
3oz y=y fesae fan farfes mif T feg gog 3 qust T M3 dUST T I =&

JgZ T Y=Y § TIAEET J|

Ufgarse arstfeutnt, faem ardtfedtnt w3 f&3t arstfedtnt |

993 femmer 39837 € g =87 fsew fam § g5t st &% Ja3 feg ufg=afss
3T A AgeT J1

99 T IUST B IS T YT I M3 JUST B 797 § da3 € Y=SJ € W3d & U a3
Y=g fagr At J1

(1) gga U'3at A #mt {9 ufg=afaz sas|

(2) II0 U3 A #WHT § AT q9d Afgd AUStet & yruSti

(1) 7t & AT JI&T  (2) IIA-U3IT & A JIBT

wfAd B €< A 393 Y=Y § Yg'fe3 41 ga¢ I8, U9 feg &t 8 Audhrt m3 (7t &
ygTfe3 Jae I&|

(1) 5T 3 iyt O3 (2) I8 AN €7 879 W3 TT&T UT3T (3) 39 AT

I3 3 T3 AN I BT T AHT 13T ATeT I

(1) Afgg AUt &t feadt 3 I T8t yrughnt|

(2) fo=m €t fegdt 3 I =&t yuItmt

(1) sae feadt (2) graat 3 YUz 39

ufgess arstfettnt 3 a3 y=v fsaufaas aos Bet furee § Hu 89 feg my
g3 Ater J1

Ufgorss arstfedtt Tutg & »iHes T Y AHT Jebut 9 | feg arsifedhr dt U &
g M3 T o f6durds Jaetmt 5|

nifadt aSifedt 7 Aaret muSht A= fa s=a, ft, uste »ife w3 Sowasts
fe=w €t ydte »3 9 575 AUz Jemt 95, st § fa=w arifedmt fagr e 31
feg Gv astfedtnt Jet g5 7 €%er & (= »3 Gue € 3T ¥ &% A9z et
J5 |
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(d) 2. (¢) 3. (b) 4. (b) 5. (3)

M.C.Q

68



